BREHS: 300105 BRE @ #R: EIRFAR 2. i 2022-007

M & TR B TTHRAR AR R A 7]
2022 FH—KIEHT RR KSR AE

ANAREELLRBEAREERBFNARREE.
W, 2¥, RAERBRILR. RYEBRREARR.

el RN
LARRBRRESR HABRWUERHIEE
2 ARBEARREAY KR UAERAR K Bl B R
HITETE -
— SWUBAMEEFR
(—) W HTFHN
S [ :
P34 T8 . 20224E2 H9H F4+14:30.
I IRYINESR 28 5 BT 28 55 R Ge3dE AT W25 48 52 B B ) A -
202242 H9H 4-9:15-9:25, 9:30-11:30, F4-13:00-15:00;
I IRIINIE SR 28 ) B FLR N H5E 52 2R e S R N [
202242 H9H9:15%8 4 H F4-15:00.
S A FE QLA BHRSREXEE A X
& T REX H a1l #25 A m A UE .,
3. ST BB E R BT AL AT
4, 2WHEN: AFEFS.

1




5. W ERN: EFKMMALE,

6. W AT EVE. ST ARk H 5.
B 5 RRFEFRF A RVEE ATBUE S TE . HE
PSR (AR ERE) HIRLE .

(=) TS

1. R 2 WU I 2R A 400

JZR R ) S IR

i I B AN 28 45 ZE IR RN, AR 417215,966,994
i, o BT A AL 41,3413 %

Horr: Ed IR SRR AR, REEM215,730,720
I, i BT A ELE A 41.2961 %

I AR N, &7 236,2740%, 5 b
o) S A ]0.0452 % .

/R H R ) S AR B L

BT A N B ER NIRRT, AR I 416,274
B, i A w4 1110.0797 % .

Horpe BB BEER TR LN, AR 47180,000
e, o BT w7 70,0345 %6

BT PR S NBEARB N, AR REA236,274 8%, 1
T A F R AT H0.0452% .

2. AR ER. W, SPUEEN R A RIS R
JZm T AR



Z WRHVERIIENR

AR TR 23 LA I 10 48 P 5T I 25 15 AR 45 A B 3R 1
7 3 BOE I R

1. RTERELTHHES TR E

BRI

A §215,966,994 /%, 7 I BT AR TR 4 1)
100.0000%; JeXFOML, o HiJFE <= OB A IR B e i 40 )
0.0000%: FEALOML CHidr, BIRIZZEANFEROLD, HHFE
WA IRR Frfs 43 1#0.0000 %6

/NI AR S R R UL

Al 416,274, o HIRE 2 U0 /N ZR BT R A 1)
100.0000%; JeXFOM, 5 HYJRE <= U /N B 2R s e o )
0.0000%; FAXOM (Hirr, BRIRFERBRINFEALOME), & tHIH
S P A/ INBZR B B4 £4)0.0000 %

AR TN G R S It AR TR 2R KRR AU
BEILR, RFE .

=, #ILEREEER

AL T AR T 55 B i s M R i v R SO a it
AT IAE T AR Kz, FF R e i

NEIRTBE AR RS BER BT HESWN R B
t HENB . R ARR SRR R T SRk RFT&
(nFNEY (BT AFRRARRINY EHSERE. TBUE

3



B BRI NS RS TN fe 2w SR B HLE
AR KRR ETER B

b, F&EXH
1. & I B I BRI AR A FR 2 7] 20224 5 — X i )
I N2 OF

2 CAERCTIAEREIN G55 BT o< 10 & e IR T SR et
A R 2~ 7120224 58 — IR I ROR K iR WA )
3+ RYINETRAC 2 BT 2R i H Al ST

SRl /AT

MR & IR I ER A A PR A 7] E 32
— O %= HhH



